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1 Introduction
In RAN4#73 a number of papers were presented on the definition [1] and the method of deriving [2] the reverse interferer for the intra IMD requirement. A way forward [3] was approved which captured the agreed points and the open issues concerning the intra –AAS IMD and to attempt to define under what basis the interference signal is declared. The following methods for defining the reverse interference signal have been proposed so far:

1.
Individual, where the inference signal is created as the sum of all coupled interference contributions associated to a location in the array.

2.
Worse case, where the interference signal is created as the sum of all coupled interference contributions for the worst case location in the array and applied to all transmitters.

3.
Average, where the interference signal seen in at each location in the array in the array is averaged. The average is then used for the IMD test. The average coupling approach assumes equal transmitters.
In the discussion paper [5], the 3 options for setting the level of the reverse interferer for the intra AAS IMD requirement have been discussed. Option 1 and option 2 are both valid and can be combined in a single description if the level is described as greater than or equal to as the max interferer level will always be greater than or equal to the location specific interferer level.

The definitions use the ports described in [6],.

The following description is proposed:
Interfering signal at port A(n) has a mean power greater than or equal to the power sum of the signals due to the coupling between ports B(n) in the composite antenna array and the output power of the other transceiver units in the array.

Also the average interferer level to be used when all transceiver units are identical should not be discounted at his stage so should still be included as FFS.

When all transceiver units are identical and designed to operate at the same power output then  the interfering signal at port A(n) with a mean power equal to the average of the power sum of the signals due to the coupling between ports (B(n) in the composite antenna array and the output power of the other transceiver units in the array.

In addition the interfering signal type was discussed and it was shown that interfering signal should be defined as being non coherent with the wanted signal but of same BW and modulation type.

This TP attempts to capture these findings in the TR.
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8.1.5.2
Intra AAS Transmitter intermodulation
In an AAS BS there could be coupling between two transmitters within one antenna package. In this case, the central frequencies of the transmitted signals are aligned in frequency domain, and they could transmit the same level of power. 
The reference wanted signal is FFS.
The interfering test signal at port A(n) has a mean power greater than or equal to the power sum of the signals due to the coupling between ports B(n) in the composite antenna array and the maximum output power of the other transceiver units in the transceiver unit array at port A(m), where n is the index of the transceiver unit under test and m is the set of indexes 1 to K minus n.
It is FFS that when all transceiver units are identical and designed to operate at the same power output then the interfering signal at port A(n) shall have a mean power equal to the average of the power sum of the signals due to the coupling between ports B(n) in the composite antenna array and the output power of the other transceiver units in the transceiver unit array at port A(m), where n is the index of the transceiver unit under test and m is the set of indexes 1 to K minus n.
The interferer is of the same BW and modulation type as the wanted signal but shall be non-coherent to it.































































